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Which of the following is the fourth to the
left of the sixth to the left of W in the
above arrangement?
उपरोक्त व्यवस्था में निम्ननिखित में से कौिW के
बाएं से छठे के बाएं से चौथा है?

01.U
02.D
03. E
04. 7
05. 9



R © J * I 9 Q 8 @ M 5 % P U 2A D 7 F 8 $ 4 3 Z E K 1W N 6 #VY

How many such consonants are there in
the above arrangement each of which
immediately followed by a symbol but not
immediately preceded by a number?
उपरोक्त व्यवस्था में ऐसे नकतिे वं्यजि हैं नजिमें से
प्रते्यक के तुरंत बाद एक प्रतीक है िेनकि ठीक
पहिे एक संख्या िही ं है?

01.None
02.One
03.Two
04.Three
05.More than three



R © J * I 9 Q 8 @ M 5 % P U 2A D 7 F 8 $ 4 3 Z E K 1W N 6 #VY

How many such symbols are there in the
above arrangement each of which is
immediately preceded by a letter and
immediately followed by a number?
उपरोक्त व्यवस्था में ऐसे नकतिे प्रतीक हैं नजिमें से
प्रते्यक के ठीक पहिे एक अक्षर और ठीक बाद
एक संख्या है?

01.None
02.One
03.Two
04.Three
05.More than three



R © J * I 9 Q 8 @ M 5 % P U 2A D 7 F 8 $ 4 3 Z E K 1W N 6 #VY

Which of the following is the ninth to the
right of the seventeenth from the right end
in the above arrangement?
उपरोक्त व्यवस्था में निम्ननिखित में से कौि सा
दायें छोर से सत्रहवें के दायें से िौवां है?

01.N
02. $
03. 4
04.W
05. K



In a certain code language, REVULSION is
written as TWDSKONJR. How will
EMOLLIENT be written in that code
language?
एक निनित कूट भाषा में REVULSION को
TWDSKONJR नििा जाता है। उसी कूट भाषा
में EMOLLIENT को नकस प्रकार नििा जाएगा?

01.KPLKFUMFH
02. KPLFKUMFH
03.MNNCMSODJ
04. KPLFKUOFH
05.None of these



Point A is 7 m to the east of Point B. Point
K is 8 m to the south of Point A. Point L is
12 m to the southwest of Point Z. Point Z is
3 m to the north of Point K.
नबंदु A, नबंदु B के पूवव में 7 मीटर है। नबंदु K, नबंदु A
के दनक्षण में 8 मीटर है। नबंदु L, नबंदु Z के दनक्षण-
पनिम में 12 मीटर है। नबंदु Z, नबंदु K के उत्तर में 3
मीटर है।
Point A is in which direction with respect
to Point L?
01. Southeast
02.Northwest
03. Southwest
04.Northeast
05.None of these



Point A is 7 m to the east of Point B. Point
K is 8 m to the south of Point A. Point L is
12 m to the southwest of Point Z. Point Z is
3 m to the north of Point K.
नबंदु A, नबंदु B के पूवव में 7 मीटर है। नबंदु K, नबंदु A
के दनक्षण में 8 मीटर है। नबंदु L, नबंदु Z के दनक्षण-
पनिम में 12 मीटर है। नबंदु Z, नबंदु K के उत्तर में 3
मीटर है।
What is the distance between Point Z and
Point A?
01. 8m
02. 3m
03. 5m
04. Cannot be determined
05.None of these



Six members of a family E, K,O, F,D and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.
एक पररवार के छह सदस्य E, K, O, F, DऔरW
एक दूसरे से संबंनित हैं। E, K का नपता है जो D
का इकिौता पुत्र है। E की इकिौती अनववानहत
भाभी W है नजसका कोई भाई िही ं है। O, E का
इकिौता सहोदर है। F, K की पुत्री है।



Six members of a family E, K,O, F,D and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.
How many females are there in the family?
01.One
02.Two
03.Three
04. Four
05. Cannot be determined



Six members of a family E, K,O, F,D and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.
If Q is married to K then how is Q related
to O?
01.Daughter
02. Sister
03.Mother
04.Niece
05.Daughter-in-law



Six members of a family E, K,O, F,D and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.
How is F related to D?
01.Granddaughter
02. Sister
03.Mother
04.Niece
05.Daughter



Point N is 8 m to the west of Point O. Point P is 4 

m to the south of Point O. Point Q is 4 m to the 

east of Point P. Point R is 6 m to the north of 

Point Q. Point S is 8 m to the west of Point R. 

Point T is 2 m to the south of Point S.

नबंदु N, नबंदु O के पनिम में 8 मीटर पर है। नबंदु P, नबंदु O 

के दनक्षण में 4 मीटर पर है। नबंदु Q, नबंदु P के पूवव में 4 

मीटर पर है। नबंदु R, नबंदु Q के उत्तर में 6 मीटर पर है। नबंदु

S, नबंदु R के पनिम में 8 मीटर पर है। नबंदु T, नबंदु S के 2 

मीटर दनक्षण में है।



Point N is 8 m to the west of Point O. Point P is 4 

m to the south of Point O. Point Q is 4 m to the 

east of Point P. Point R is 6 m to the north of 

Point Q. Point S is 8 m to the west of Point R. 

Point T is 2 m to the south of Point S.

What is the direction of point P with respect to 

point T?

नबंदु T के सन्दभव में नबंदु P की नदशा क्या है?

1) South-West / दनक्षण पनिम

2) North-East / उत्तर पूवव

3) South-East / दनक्षण-पूवव

4) North-West / उत्तर पनिम

5) None of these / इिमें से कोई िही ं



Point N is 8 m to the west of Point O. Point P is 4 

m to the south of Point O. Point Q is 4 m to the 

east of Point P. Point R is 6 m to the north of 

Point Q. Point S is 8 m to the west of Point R. 

Point T is 2 m to the south of Point S.

If a point A is 4 m in the north direction with 

respect to Q. Then what is the minimum distance 

between N and A?

यनद एक नबंदु A, Q के सन्दभव में उत्तर नदशा में 4 मीटर है, 

तो N और A के बीच की नू्यितम दूरी क्या है?

1) 16 m / 16 मीटर

2) 8 m / 8 मीटर

3) 12 m / 12 मीटर

4) 10 m / 10 मीटर

5) None of these / इिमें से कोई िही ं



Point N is 8 m to the west of Point O. Point P is 4 

m to the south of Point O. Point Q is 4 m to the 

east of Point P. Point R is 6 m to the north of 

Point Q. Point S is 8 m to the west of Point R. 

Point T is 2 m to the south of Point S.

What is the shortest distance between point S 

and point Q?

नबंदु S और नबंदु Q के मध्य नू्यितम दूरी नकतिी है?

1) 15 m / 15 मीटर

2) 13 m / 13 मीटर

3) 12 m / 12 मीटर

4) 10 m / 10 मीटर

5) None of these / इिमें से कोई िही ं



Statement:

U = J ≥ R, W > R = Y

Conclusions:

I. Y < J

II. J = Y

1) Only I follows

2) Only II follows

3) Either I or II follow

4) Neither I nor II follow

5) Both I and II follow

कथि:

U = J ≥ R, W > R = Y

निष्कषव:

I. Y < J

II. J = Y



Statements:

Y ≥ R < E; R > P ≥ C = A

Conclusions:

I. Y > A

II. E ≥ C

1) Only I is True

2) Neither I nor II is True

3) Both I and II are True

4) Either I or II is True

5) Only II is True

कथि:

Y ≥ R < E; R > P ≥ C = A

निष्कषव:

I. Y > A

II. E ≥ C



Statements: C ≤ H = M ≥ Y; Y ≤ A ≥ X < P > L

Conclusions:

I. A > C

II. A = M

कथि: C ≤ H = M ≥ Y; Y ≤ A ≥ X < P > L

निष्कषव:

I. A > C

II. A = M

1) Only I is true

2) Only II is true

3) Either I or II is true

4) Both I and II is true

5) Neither I nor II is true



Statements:

O = D = S ≥ G, E ≤ G ≤ U

Conclusions:

I.O > E

II. E = O

1) Only conclusion I follows

2) Only conclusion II follows

3) Both conclusions I and II follow

4) Either conclusion I or II follows.

5) None follows

कथि:

O = D = S ≥ G, E ≤ G ≤ U

निष्कषव:

I.O > E

II. E = O



Statements:

W = Z ≤ Q < O, F ≤ Z < T

Conclusions:

I. W < T

II. O > F

1) Only conclusion I follows

2) Only conclusion II follows

3) Both conclusions I and II follow

4) Either conclusion I or II follows

5) None follows

कथि:

W = Z ≤ Q < O, F ≤ Z < T

निष्कषव:

I. W < T

II. O > F



Statement:

Q = P = R ≤ V; P ≤ L = O; V ≤ S = T; V = N < A

Conclusion:

I. R ≤ T

II. A > Q

कथि:

Q = P = R ≤ V; P ≤ L = O; V ≤ S = T; V = N < A

निष्कषव:

I. R ≤ T

II. A > Q

1) Only conclusion I follow

2) Only conclusion II follow

3) Either conclusion I or II follow

4) Both conclusion I and II follow

5) None of these



If 2 is added to each even digit and 1 is subtracted 

from each odd digit in the number 7651324, then 

what will be the sum of number/numbers not 

repeated in the new number formed?

यनद संख्या 7651324 के प्रते्यक सम अंक में 2 जोडा जाता है

और प्रते्यक नवषम अंक में से 1 घटाया जाता है, तो बिी

ियी संख्या में ि दोहराई गई संख्या/संख्याओं का

योगफिक्या होगा?

1) 4

2) 2

3) 7

4) 10

5) 3



Seven boxes P, Q, R, S, T, U and V are kept one above 

another to form a stack. The topmost box is numbered as 

1, the box below it as 2 and so on till the lowermost box 

which is 7. Equal number of boxes are above and below 

box R. There is one box between box R and box U. Box P 

is just above box V, which is an even-numbered box. Box 

T is above box S and neither box T nor S is adjacent to 

box R. 

एक सै्टक बिािे के निए सात बके्स P, Q, R, S, T, U और V को एक

के ऊपर एक रिा जाता है। सबसे ऊपर वािे बॉक्स को 1, उसके िीचे

के बॉक्स को 2 और इसी तरह के सबसे निचिे बॉक्स को 7 तक नगिा

जाता है। बॉक्स R के ऊपर और िीचे बक्सों की संख्या बराबर हैं।

बॉक्स R और बॉक्स U के बीच एक बॉक्स है। बॉक्स P, बॉक्स V, जो

एक सम संख्या वािा बॉक्स है, के ठीक ऊपर है। बॉक्स T, बॉक्स S के

ऊपर है और ि तो बॉक्स T और ि ही बॉक्स S, बॉक्स R के आसन्न हैं।



Seven boxes P, Q, R, S, T, U and V are kept one 

above another to form a stack. The topmost box is 

numbered as 1, the box below it as 2 and so on till 

the lowermost box which is 7. Equal number of 

boxes are above and below box R. There is one box 

between box R and box U. Box P is just above box 

V, which is an even-numbered box. Box T is above 

box S and neither box T nor S is adjacent to box R. 

Which box is just above box R?

बॉक्स R के ठीक ऊपर कौि सा बॉक्स है?

1) Box Q / बॉक्स Q

2) Box P / बॉक्स P

3) Box V / बॉक्स V

4) Box T / बॉक्स T

5) Box S / बॉक्स S



Seven boxes P, Q, R, S, T, U and V are kept one above 
another to form a stack. The topmost box is numbered 
as 1, the box below it as 2 and so on till the lowermost 
box which is 7. Equal number of boxes are above and 
below box R. There is one box between box R and box 
U. Box P is just above box V, which is an even-
numbered box. Box T is above box S and neither box T 
nor S is adjacent to box R. 
Which of the following statement is correct?
निम्ननिखित में से कौि सा कथि सही है?
1) Box U is just below box Q / बॉक्स U बॉक्स Q के ठीक
िीचे है
2) Box R is an odd numbered box / बॉक्स R नवषम संख्या
वािा बॉक्स है
3) Box T is the topmost box / बॉक्स T सबसे ऊपरी बॉक्स है
4) Two boxes are above box P / बॉक्स P के ऊपर दो बॉक्स
हैं
5) All statements are correct / सभी कथि सही हैं



Seven boxes P, Q, R, S, T, U and V are kept one 
above another to form a stack. The topmost box is 
numbered as 1, the box below it as 2 and so on till 
the lowermost box which is 7. Equal number of 
boxes are above and below box R. There is one box 
between box R and box U. Box P is just above box V, 
which is an even-numbered box. Box T is above box 
S and neither box T nor S is adjacent to box R. 
If all the boxes are arranged in reverse alphabetical 
order from top to bottom then which box remains in 
the same position?
यनद सभी बॉक्सऊपर से िीचे की ओर उले्ट वणाविुक्रम में
व्यवखस्थत होते हैं तो कौि सा बॉक्स उसी स्थाि में रहता है?
1) V
2) S
3) T
4) P
5) U



Seven boxes P, Q, R, S, T, U and V are kept one 

above another to form a stack. The topmost box is 

numbered as 1, the box below it as 2 and so on till 

the lowermost box which is 7. Equal number of 

boxes are above and below box R. There is one box 

between box R and box U. Box P is just above box 

V, which is an even-numbered box. Box T is above 

box S and neither box T nor S is adjacent to box R. 

How many boxes are above box V?

बॉक्स V के ऊपर नकतिे बॉक्स हैं?

1) Two / दो

2) Five / पााँच

3) Three / तीि

4) Four / चार

5) Six / छः



Seven boxes P, Q, R, S, T, U and V are kept one 

above another to form a stack. The topmost box is 

numbered as 1, the box below it as 2 and so on till 

the lowermost box which is 7. Equal number of 

boxes are above and below box R. There is one box 

between box R and box U. Box P is just above box V, 

which is an even-numbered box. Box T is above box 

S and neither box T nor S is adjacent to box R. 

Box ________ is the bottommost box.

बॉक्स ________ सबसे िीचे वािा बॉक्स है।

1) S

2) T

3) U

4) V

5) P



Statements:

All notes are coins.

Only a few coins are cards.

Conclusions:

I. All notes are cards.

II. Some cards are coins.

1) Only I follow

2) Only II follow

3) Either I or II follow

4) Neither I nor II follows

5) All follows

कथि:

सभी िोट नसके्क हैं।

केवि कुछ नसके्क कार्व हैं।

निष्कषव:

I. सभी िोट कार्व हैं।

II. कुछ कार्व नसके्क हैं।



Statements:

All dog are cat.

No cat is mouse.

Conclusions:

I. No dog is mouse.

II. Some cat are dog.

1) Only conclusion I follows

2) Only conclusion II follows

3) Both I and II follow

4) Neither I nor II follows

5) Either I or II follows

कथि:

सभी कुते्त नबखियााँ हैं।

कोई नबिी चूहा िही ं है।

निष्कषव:

I. कोई कुत्ता चूहा िही ं है।

II. कुछ नबखियााँ कुते्त हैं।



Statements:

Some ponds are rivers.

No river is lake.

All lakes are ocean.

Conclusions:

I. All ocean can be pond.

II. Some oceans are river.

1) If only conclusion II follows

2) If only conclusion I follows

3) If neither conclusion I nor II follows

4) If either conclusion I or II follows

5) If both conclusions I and II follow

कथि:

कुछ तािाब िनदयां हैं।

कोई िदी झीि िही ं है।

सभी झीिें सागर की हैं।

निष्कषव:

I. सभी सागर तािाब हो सकते हैं।

II. कुछ महासागर िदी हैं।



Statements:

No pen is a pencil.

All pencils are paper.

Some papers are caps.

Conclusions:

I. All pens being caps is a 

possibility.

II. All pencils being caps is a 

possibility.

1) Only I follows

2) Only II follows

3) Either I or II follows

4) Neither I nor II follows

5) Both I and II follows

कथि:

कोई पेि पेंनसि िही ं है।

सभी पेंनसि कागज हैं।

कुछ कागज कैप हैं।

निष्कषव:

I. सभी पेि की कैप होिे की

संभाविा है।

II. सभी पेंनसि की कैप होिे की

संभाविा है।



P, Q, R, S, T, U, V, and W are the eight people sitting 

around a circular table facing the center. V is sitting 

opposite Q. P is sitting third to the right of R. Q is 

sitting to the immediate left of U. R is not sitting 

opposite S. P is an immediate neighbor of T. T is 

sitting second to the left of S. 

P, Q, R, S, T, U, V, और W आठ िोग हैं एक गोिाकार मेज के

चारो ओर कें द्र से समु्मि बैठे हैं। V, Q के नवपरीत बैठा है। P, R 

के दाएाँ तीसरे स्थाि पर बैठा है। Q, U के निकटतम बाएाँ बैठा

है। R, S के नवपरीत िही ं बैठा है। P, T का निकटतम पडोसी है।

T, S के बाएाँ दूसरे स्थाि पर बैठा है।



P, Q, R, S, T, U, V, and W are the eight people sitting 

around a circular table facing the center. V is sitting 

opposite Q. P is sitting third to the right of R. Q is 

sitting to the immediate left of U. R is not sitting 

opposite S. P is an immediate neighbor of T. T is 

sitting second to the left of S. 

Who is sitting second to the right of P?

P के दाएाँ दूसरे स्थाि पर कौि बैठा है?

1) S

2) V

3) Q

4) W

5) T



P, Q, R, S, T, U, V, and W are the eight people sitting 
around a circular table facing the center. V is sitting 
opposite Q. P is sitting third to the right of R. Q is 
sitting to the immediate left of U. R is not sitting 
opposite S. P is an immediate neighbor of T. T is 
sitting second to the left of S. 
Four of the following five are alike in a certain way 
and thus form a group. Find the one that does not 
belong to the group?
निम्ननिखित पााँच में से चार एक निनित तरीके से एक जैसे हैं
और इस प्रकार एक समूह बिाते हैं। उस समूह का पता िगाएं
जो समूह से संबंनित िही ं है?
1) RU
2) QS
3) WQ
4) PV
5) VW



P, Q, R, S, T, U, V, and W are the eight people sitting 
around a circular table facing the center. V is sitting 
opposite Q. P is sitting third to the right of R. Q is 
sitting to the immediate left of U. R is not sitting 
opposite S. P is an immediate neighbor of T. T is 
sitting second to the left of S. 

Who is sitting opposite T?

T के नवपरीत कौि बैठा है?

1) W

2) S

3) P

4) R

5) V



P, Q, R, S, T, U, V, and W are the eight people sitting 
around a circular table facing the center. V is sitting 
opposite Q. P is sitting third to the right of R. Q is 
sitting to the immediate left of U. R is not sitting 
opposite S. P is an immediate neighbor of T. T is 
sitting second to the left of S. 

Who is sitting third to the left of S?

S के बाएाँ तीसरे स्थाि पर कौि बैठा है?

1) P

2) R

3) V

4) W

5) U



P, Q, R, S, T, U, V, and W are the eight people sitting 
around a circular table facing the center. V is sitting 
opposite Q. P is sitting third to the right of R. Q is sitting 
to the immediate left of U. R is not sitting opposite S. P 
is an immediate neighbor of T. T is sitting second to the 
left of S. 
How many people are sitting between R and U if we 
start from R and go towards clockwise direction?
यनद हम R दनक्षणावतव नदशा में गणिा करते है तो R और U के बीच
नकतिे िोग बैठे हैं?
1) One / एक
2) Two / दो
3) Four / चार
4) Three / तीि
5) More than four / चार से अनिक



There are six members in the family of three 

generation. A is father of D, who is grandson of B. 

The gender of A and B is same. F is brother-in-law of 

E. F is the paternal uncle of C, who is married to A. D 

is a male member.

तीि पीढी के पररवार में छह सदस्य हैं। A, D का नपता है, जो B 

का ग्रैंर्सि है। A और B का निंग समाि है। F, E का ब्रदर-इि-

िॉ है। F, C का पैटरिि अंकि है, जो A से नववानहत है। D पुरुष

सदस्य है।



There are six members in the family of three 

generation. A is father of D, who is grandson of B. 

The gender of A and B is same. F is brother-in-law of 

E. F is the paternal uncle of C, who is married to A. D 

is a male member.

How is E related to C?

E, C से कैसे संबंनित है?

1) Mother / माता

2) Sister-in-law / नसस्टर-इि-िॉ

3) Father / नपता

4) Uncle / अंकि

5) None of the above / उपरोक्त में से कोई िही ं



There are six members in the family of three 

generation. A is father of D, who is grandson of B. 

The gender of A and B is same. F is brother-in-law of 

E. F is the paternal uncle of C, who is married to A. D 

is a male member.

How is D related to E?

D, E से नकस प्रकार संबंनित है?

1) Grandmother / ग्रांर्मदर

2) Uncle / अंकि

3) Grandson / ग्रैंर्सि

4) Sister / बहि

5) None of the above / उपरोक्त में से कोई िही ं



Eight persons A, B, C, D, E, F, G and H have different 

ages (in years) among 15, 30, 31, 38, 42, 45, 50, 51 but 

not necessarily in same order. Number of persons 

born before H is equal to number of persons born 

after E. A is younger than C. F is 1 year elder than B. 

G's age is multiple of 7. D is 45 years old.

आठव्यखक्त A, B, C, D, E, F, G और H की अिग-अिगआयु

(वषों में) 15, 30, 31, 38, 42, 45, 50, 51 के बीच है िेनकि

जरूरी िही ं नक एक ही क्रम में हो। H से पहिे जने्म व्यखक्तयों की

संख्या E के बाद जन्म िेिे वािे व्यखक्तयो ं की संख्या के बराबर

है। A, C से छोटा है। F, B से 1 वषव बडा है। G की आयु 7 का

गुणक है। D की आयु 45 वषव है।



Eight persons A, B, C, D, E, F, G and H have different 

ages (in years) among 15, 30, 31, 38, 42, 45, 50, 51 but 

not necessarily in same order. Number of persons 

born before H is equal to number of persons born 

after E. A is younger than C. F is 1 year elder than B. 

G's age is multiple of 7. D is 45 years old.

B is ________ years old.

B की आयु ________ वषव है।

1) 15

2) 38

3) 50

4) 30

5) 31



Eight persons A, B, C, D, E, F, G and H have different 

ages (in years) among 15, 30, 31, 38, 42, 45, 50, 51 but 

not necessarily in same order. Number of persons 

born before H is equal to number of persons born 

after E. A is younger than C. F is 1 year elder than B. 

G's age is multiple of 7. D is 45 years old.

Which of the following statement is definitely 

correct?

निम्ननिखित में से कौि सा कथि निनित रूप से सत्य है?

1) E is 51 years old / E की आयु 51 वषव है

2) A is elder than F / A, F से बडा है

3) Only two persons are elder than G / केवि दो व्यखक्त

G से बडे हैं

4) H is elder than A / H, A से बडा है

5) All are correct / सभी सत्य हैं



Eight persons A, B, C, D, E, F, G and H have different 

ages (in years) among 15, 30, 31, 38, 42, 45, 50, 51 but 

not necessarily in same order. Number of persons 

born before H is equal to number of persons born 

after E. A is younger than C. F is 1 year elder than B. 

G's age is multiple of 7. D is 45 years old.

What is the difference in the ages of E and H?

E और H के आयु में क्या अंतर है?

1) 40

2) 33

3) 45

4) 36

5) 23



Eight persons A, B, C, D, E, F, G and H have different 

ages (in years) among 15, 30, 31, 38, 42, 45, 50, 51 but 

not necessarily in same order. Number of persons 

born before H is equal to number of persons born 

after E. A is younger than C. F is 1 year elder than B. 

G's age is multiple of 7. D is 45 years old.

How many persons are elder than F?

F से नकतिे व्यखक्त बडे हैं?

1) Five / पांच

2) Three / तीि

3) Two / दो

4) Four / चार

5) Six / छह



Eight persons A, B, C, D, E, F, G and H have different 

ages (in years) among 15, 30, 31, 38, 42, 45, 50, 51 but 

not necessarily in same order. Number of persons 

born before H is equal to number of persons born 

after E. A is younger than C. F is 1 year elder than B. 

G's age is multiple of 7. D is 45 years old.

Whose age is 50 years?

नकसकी आयु 50 वषव है?

1) B

2) C

3) A

4) E

5) F



Statements:

Only a few Ice is Cube.

Some Cube is Circle.

Some Circle are Square.

Conclusions:

I. Some Ice is not Cube.

II. Some Cube is Square.

1) Only I follows

2) Only II follows

3) Both I and II follow

4) Either I or II follows

5) Neither I nor II follows

कथि:

केवि कुछ बफव घि है।

कुछ घि वृत्त है।

कुछ वृत्त वगव हैं।

निष्कषव:

I. कुछ बफव घि िही ं है।

II. कुछ घि वगव है।



Statements:

All Z is X.

Some W is Z.

No A is W.

Conclusions:

I. All A is X.

II. Some X is not A.

1) Only I follow

2) Only II follow

3) Either I or II follows

4) Neither I nor II

5) Both I and II follows

कथि:

सभी Z, X हैं।

कुछ W, Z हैं।

कोई A, W िही ं है।

निष्कषव:

I. सभी A, X हैं।

II. कुछ X, A िही ं हैं।



Statements:

I. All Pockets are Envelopes

II. No Envelopes is Gifts

III. Some Gifts are Boxes

Conclusions:

I. All Envelopes are Pockets.

II. All Boxes can never be Envelopes.

1) Neither conclusion I nor II follows

2) Only conclusion I follows

3) Only conclusion II follows

4) Either conclusion I or II follows

5) Both conclusion I and II follow

कथि:

I. सभी पैकेट निफाफा हैं।

II. कोई निफाफा नगफ्ट िही ं है।

III. कुछ नगफ्ट बॉक्स हैं।

निष्कषव:

I. सभी निफाफा पैकेट हैं।

II. सभी बॉक्सकभी निफाफा िही ं हो सकते हैं।



Statements:

Only a few Red is White

Some White is Black

All Black is Green

Conclusions:

I. Some Red is not White

II. Some Green is Red

1) Neither I nor II

2) Only I follow

3) Only II follow

4) Both I and II follows

5) Either I or II follows

कथि:

केवि कुछ िाि सफेद है

कुछ सफेद कािे हैं

सभी कािे हरे हैं

निष्कषव:

I. कुछ िाि सफेद िही ं है

II. कुछ हरे िाि है



There are 8 persons Prince, Priya, Rishu, Sneha, 

Bhanu, Ram, Sriya, and Sunny, living in a building 

having 8 floors but not necessarily in the same order. 

The ground floor is numbered 1 and the floor above it 

is number 2 and so on. The topmost floor is 

numbered 8. Only one person lives on each floor.

Two-person live between the floor of Prince and 

Priya. The number of people who live above Priya is 

equal to the number of people who live below the 

floor of Rishu. Bhanu lives on an even numbered 

floor. Prince lives on an even numbered floor below 

floor 5. Two person lives between Rishu and Sneha. 

Ram lives immediately above the floor on which 

Sneha lives. Ram lives on one of the floors above 

Sriya and below the floor of Sunny. Sriya doesn't live 

on the bottom floor.



8 व्यखक्त नपं्रस, नप्रया, ररशु, से्नहा, भािु, राम, श्रीया और सिी एक

आठ मंनजिा इमारत में रहते हैं, िेनकि समाि क्रमआवश्यक

िही ं है। सबसे निचिी मंनजि का क्रमांक 1 है और इसके ऊपर

वािी मंनजि का क्रमांक 2 है और समाि क्रम जारी रहता है।

सबसे ऊपरी मंनजि का क्रमांक 8 है। प्रते्यक मंनजि पर केवि

एक व्यखक्त रहता है।

नपं्रस और नप्रया की मंनजि के बीच दो व्यखक्त रहते हैं। नप्रया के

ऊपर रहिे वािे व्यखक्तयों की संख्या ररशु की मंनजि के िीचे

रहिे वािे व्यखक्तयों की संख्या के बराबर है। भािु एक सम

संख्यांनकत मंनजि पर रहता है। नपं्रस मंनजि 5 के िीचे नकसी

सम संख्यांनकत मंनजि पर रहता है। ररशु और से्नहा के बीच दो

बीच व्यखक्त रहते हैं। राम, से्नहा के ठीक ऊपर वािी मंनजि पर

रहता है। राम, श्रीया के ऊपर नकसी मंनजि पर और सिी की

मंनजि के िीचे रहता है। श्रीया सबसे निचिी मंनजि पर िही ं

रहती है।



Two-person live between the floor of Prince and 
Priya. The number of people who live above Priya is 
equal to the number of people who live below the 
floor of Rishu. Bhanu lives on an even numbered 
floor. Prince lives on an even numbered floor below 
floor 5. Two person lives between Rishu and Sneha. 
Ram lives immediately above the floor on which 
Sneha lives. Ram lives on one of the floors above 
Sriya and below the floor of Sunny. Sriya doesn't live 
on the bottom floor.
On which floor does Ram lives?
राम कौि सी मंनजि पर रहता है?
1) 4th / चौथी
2) 5th / पांचवी ं
3) 6th / छठी
4) 8th / आठवी ं
5) None of these / इिमें से कोई िही ं



Two-person live between the floor of Prince and 
Priya. The number of people who live above Priya is 
equal to the number of people who live below the 
floor of Rishu. Bhanu lives on an even numbered 
floor. Prince lives on an even numbered floor below 
floor 5. Two person lives between Rishu and Sneha. 
Ram lives immediately above the floor on which 
Sneha lives. Ram lives on one of the floors above 
Sriya and below the floor of Sunny. Sriya doesn't live 
on the bottom floor.
how many Persons live between the floors of Bhanu
and Sneha?
भािु और से्नहा की मंनजि के बीच नकतिे व्यखक्त रहते हैं?
1) One / एक
2) Two / दो
3) Three / तीि
4) More than three / तीि से अनिक
5) None of these / इिमें से कोई िही ं



Two-person live between the floor of Prince and 
Priya. The number of people who live above Priya is 
equal to the number of people who live below the 
floor of Rishu. Bhanu lives on an even numbered 
floor. Prince lives on an even numbered floor below 
floor 5. Two person lives between Rishu and Sneha. 
Ram lives immediately above the floor on which 
Sneha lives. Ram lives on one of the floors above 
Sriya and below the floor of Sunny. Sriya doesn't live 
on the bottom floor.
Who lives immediately above the floor of Priya?
नप्रया की मंनजि के ठीक ऊपर कौि रहता है?

1) Sunny / सिी
2) Rishu / ररशु
3) Bhanu / भािु
4) Sriya / श्रीया
5) None of these / इिमें से कोई िही ं



Two-person live between the floor of Prince and 
Priya. The number of people who live above Priya is 
equal to the number of people who live below the 
floor of Rishu. Bhanu lives on an even numbered 
floor. Prince lives on an even numbered floor below 
floor 5. Two person lives between Rishu and Sneha. 
Ram lives immediately above the floor on which 
Sneha lives. Ram lives on one of the floors above 
Sriya and below the floor of Sunny. Sriya doesn't live 
on the bottom floor.
Four of the following five are alike in a certain way 
and hence they form a group, which one of the 
following does not belong to the group?
1) Prince / नपं्रस
2) Rishu / ररशु
3) Ram / राम
4) Bhanu / भािु
5) Sriya / श्रीया



Two-person live between the floor of Prince and 
Priya. The number of people who live above Priya is 
equal to the number of people who live below the 
floor of Rishu. Bhanu lives on an even numbered 
floor. Prince lives on an even numbered floor below 
floor 5. Two person lives between Rishu and Sneha. 
Ram lives immediately above the floor on which 
Sneha lives. Ram lives on one of the floors above 
Sriya and below the floor of Sunny. Sriya doesn't live 
on the bottom floor.
which of the following statement is not correct?
निम्ननिखित में से कौि सा कथि सही िही ं है?
1) Rishu lives on top most floor
2) Bhanu lives immediately above the floor on which 
Priya lives
3) Two persons live between Sunny and Prince.
4) Ram lives on an odd numbered floor
5) None of these.



A € S D 3 & F 2 G H 9 $ J @ K L Z 4 1 X C © V 8 % 

B N 5 M 6 ¥ 7 Q

How many such symbols are there in the above 

arrangement each of which is immediately 

preceded by a number and followed by an 

alphabet?

उपरोक्त व्यवस्था में नकतिे ऐसे प्रतीक नचन्ह हैं नजिमें से

प्रते्यक के ठीक पहिे एक संख्या और ठीक बाद एक

वणावक्षर है?

1) None of these / इिमें से कोई िही ं

2) One / एक

3) Five / पांच

4) Three / तीि

5) Two / दो



A € S D 3 & F 2 G H 9 $ J @ K L Z 4 1 X C © V 8 % 

B N 5 M 6 ¥ 7 Q

How many such symbols are there in the above 

arrangement each of which is immediately 

preceded by a number and followed by an 

alphabet?

उपरोक्त व्यवस्था में नकतिे ऐसे प्रतीक नचन्ह हैं नजिमें से

प्रते्यक के ठीक पहिे एक संख्या और ठीक बाद एक

वणावक्षर है?

1) None of these / इिमें से कोई िही ं

2) One / एक

3) Five / पांच

4) Three / तीि

5) Two / दो



A € S D 3 & F 2 G H 9 $ J @ K L Z 4 1 X C © V 8 % 

B N 5 M 6 ¥ 7 Q

Four of the following are alike in a certain way 

based on their positions in the above 

arrangement and so form a group. Which is the 

one that does not belong to that group?

निम्ननिखित पांच में से चार उपरोक्त व्यवस्था में अपिी

खस्थनत के आिार पर एक निनित तरीके से एक समाि हैं

और इसनिए एक समूह बिाते हैं। वह कौि-सा है जो उस

समूह से संबंनित िही ं है?

1) A € S

2) S D 3

3) B N 5

4) G H 9

5) L Z 4



A € S D 3 & F 2 G H 9 $ J @ K L Z 4 1 X C © V 8 % 

B N 5 M 6 ¥ 7 Q

Four of the following are alike in a certain way 

based on their positions in the above 

arrangement and so form a group. Which is the 

one that does not belong to that group?

निम्ननिखित पांच में से चार उपरोक्त व्यवस्था में अपिी

खस्थनत के आिार पर एक निनित तरीके से एक समाि हैं

और इसनिए एक समूह बिाते हैं। वह कौि-सा है जो उस

समूह से संबंनित िही ं है?

1) A € S

2) S D 3

3) B N 5

4) G H 9

5) L Z 4



A € S D 3 & F 2 G H 9 $ J @ K L Z 4 1 X C © V 

8 % B N 5 M 6 ¥ 7 Q

If all the symbols in the above arrangement 

are dropped, then which of the following will 

be the twelfth element from the right end?

यनद उपरोक्तव्यवस्था के सभी प्रतीको ं को छोड नदया

जाता है, तो निम्ननिखित में से कौि दाएं छोर से 12वां

होगा?

1) 3

2) Z

3) X

4) 9

5) 1



A € S D 3 & F 2 G H 9 $ J @ K L Z 4 1 X C © V 

8 % B N 5 M 6 ¥ 7 Q

If all the symbols in the above arrangement 

are dropped, then which of the following will 

be the twelfth element from the right end?

यनद उपरोक्तव्यवस्था के सभी प्रतीको ं को छोड नदया

जाता है, तो निम्ननिखित में से कौि दाएं छोर से 12वां

होगा?

1) 3

2) Z

3) X

4) 9

5) 1



Directions- Study the following information 

carefully and answer the questions given below. 

Eight persons A, B, C, D, E, F, G, and H were born 

on the same date and same month of different years 

viz. 1948, 1953, 1956, 1959, 1964, 1966, 1972, and 

1981 but not necessarily in the same order. The 

calculation of their age is based on the current year 

2020. Two persons were born between the one who 

was born in an odd-numbered year and the one 

who was born immediately before B. The number of 

persons born before B is the same as the number of 

persons born after H. The difference between the 

ages of A and G is 5. Three persons were born 

between G and F, who was not the youngest. C was 

not born in an odd-numbered year and was born 

after D. E was not born immediately after C.



निदेश- निम्ननिखित जािकारी का ध्यािपूववक अध्ययि

कीनजये और िीचे नदए गए प्रश्ो ं के उत्तर दीनजये।

आठव्यखक्तयोंA, B, C, D, E, F, G, और H का जन्म

नवनभन्न वषों जैसे 1948, 1953, 1956, 1959, 1964, 1966, 

1972 और 1981 की समाि तारीि और समाि महीिो ं में

हुआ था िेनकि आवश्यक िही ं इसी क्रम में हो। उिकी

आयु की गणिा वतवमाि वषव 2020 पर आिाररत है। नवषम

संख्या वािे वषव में पैदा हुए व्यखक्तऔर B के ठीक पहिे

पैदा हुए व्यखक्त के बीच दो व्यखक्तयों का जन्म हुआ था। B 

से पहिे पैदा हुए व्यखक्तयों की संख्या, H के बाद पैदा हुए

व्यखक्तयों की संख्या के समाि है। A और G की आयु के

बीच का अंतर 5 है। G और F, जो सबसे छोटा िही ं था, के

बीच तीि व्यखक्तयों का जन्म हुआ था। C का जन्म एक

नवषम संख्या वािे वषव में िही ं हुआ था और उसका जन्म D 

के बाद हुआ था। E का जन्म C के तुरंत बाद िही ं हुआ था।



Who was born in the year 1972?

1972 में नकसका जन्म हुआ था?

1) A

2) C

3) E

4) H

5) G



Who was born in the year 1972?

1972 में नकसका जन्म हुआ था?

1) A

2) C

3) E

4) H

5) G



What is the age difference between C and F?

C और F की आयु के बीच का अंतर क्या है?

1) 12

2) 20

3) 18

4) 13

5) 33



What is the age difference between C and F?

C और F की आयु के बीच का अंतर क्या है?

1) 12

2) 20

3) 18

4) 13

5) 33



E was born in which year?

E का जन्म नकस वषव में हुआ था?

1) 1953

2) 1966

3) 1964

4) 1981

5) 1972



E was born in which year?

E का जन्म नकस वषव में हुआ था?

1) 1953

2) 1966

3) 1964

4) 1981

5) 1972



What is the sum of age of A and G?

A और G की आयु का योगफिक्या है?

1) 110

2) 117

3) 102

4) 87

5) None of these / इिमें से कोई िही ं



What is the sum of age of A and G?

A और G की आयु का योगफिक्या है?

1) 110

2) 117

3) 102

4) 87

5) None of these / इिमें से कोई िही ं



Who was born between B and C?

B और C के बीच में नकसका जन्म हुआ था?

1) G

2) H

3) A

4) D

5) E



Who was born between B and C?

B और C के बीच में नकसका जन्म हुआ था?

1) G

2) H

3) A

4) D

5) E




